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PART - I1: SCHOLASTIC APTITUDE TEST
(For Students of Class VIII)
Time : 90 Minutes Max. Marks : 90

INSTRUCTIONS TO CANDIDATES

Read the following instructions carefully before yvou open

the Question Booklet.

1. Answers are to be given on the same OMR Answer
Sheet provided tor Part- L

2, There are 90 questions in this test booklet. All are
compulsory.

3. The Question Numbers 91 - 110 belong to
Mathematics, 111 - 145 pertain to Science and
146 - 180 are on Social Science subjects.

4. Choose the correct answer from the options given for
each question and darken the corresponding circle
with black ball point pen in the OMR Answer Sheet.
Do not mark ‘¥ or ‘%" in the OMR sheet.

5. Since the time allotted for this Question Paper is very
limited you should make the best use of it by not
spending too much time on any one guestion.

6. If you do not know the answer to any question, do not
waste time on it and pass on to the next one. If time
permits, you can come back to the questions, which you
hawve left in the first instance and attempt them.

7. Rough work can be done anywhere in the Question
Booklet but not in the OMR sheet/ loose paper.

8. Fach correct answer will be awarded one mark.

9, Please return the OMR Answer Sheet only to the
invigilator after the test. Candidates can retain the
Cuestion Booklet,

10. Quote the seven digit Roll Number without fail for
any future correspondence.

PLEASE TURN OVER THE PAGE AND START
ANSWERING.
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91.

92.

93.

94.
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MATHEMATICS/ semfl 510

Two sides of a triangle are 3 cm and 5 cm.
Which of the following can be the third side
of the b'iangle 7

(1) 2cm
(3) Bcm

O s
(4)

9cm

Which of the following expression has (x —3)
as a factor ?

v
o x2—4x+3
(3) x2-x-12 (4)

(2) x*+x-6
¥ —-5x-24

If P=-15 and Q=35, then the value of
P-Q+P+Qis .
1

(1) (2) -2
-1 vl
® 5 O :
2m
2m //IZ.//,} ZEm
7R

+—30m——->»

Area of the shaded region is _

(1) 100 m? (2) 596 m?
(3) 54 m? @{ 96 m?

91.

92,

93.

94.

g waGaramsdlen @remr(h LGS mIEET
3 Qg8 womb 5 QF.8 erefle, Sesaim-
GUEITEU DI ET 6T & @Iﬁ@}é@aﬂmﬁﬁﬁh
APENMITEUS LISHDNE BienDULD ?
(1) 2G#.8 2) 6 @&

(3) 8 Gz.8 (4) 9 Q&b

Geneumeuemaupmenr (x—3) -m @
srramilwrsas GClarar, ueaamliLs-
Gsrenau

(1) x*—4x+3 (2) x*+x-6
(3) x2—x—-12 (4) x?2-5x-24
P=-15 wpmib Q=5 erafla
(P—-Q)+(P+Q) - gy
1y = 2 2
) 3 (2 -
W
® 3 4 2
26

I

2B /%} 20 6

«—306—>

uegdle  Blpedl vl u@Hufen
LiFULeTey

(1) 100 §.85 (2) 59 &.8

(3) 54 &8 (4) 96 .8
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95.

96.

97.

98.

99,

In a triangle ABC, [g =100° and AC=BC
then [B = .

O v (2) 80°

(3) 50° (4) 45°

The difference between two decimal
numbers is 56.58. If one of the numbers is
26.13, then the other number is

Q 82.71 7 (2) 7211

(3) 92.31 4) 6111

The value of (a+b)2—(a—h)?is

(1) 2(a%+b?) © 4~

(3) 2(a’-bH (4) a*+b?
Identify the correct relationship between x

and y in the given table.

=
ok
[BY
€
=
L% ]

In a hostel, food provision has been given
for 75 students for 30 days. If 15 more
students joined the hostel, for how many
days would the food provision last ?

(1) 36 O -7
(3) 100 4) 150

95.

96.

97.

98.

99,

wp&Carenmd ABC -a, |C =100° whmib
AC=BC ereflah B =

(1) 40° (2)  80°

(3) 50° (4) 45°

@ s aravsatien allgSluirsn 56.58.
SeupmieT @ erawr 26.13 erafled wpGomi
GT 68T ;

1) 8271 )
(3) 9231 (4)

7231
61.11

(a+b)>—(a—b)* -en whliy _ .
(1) 2(a*+b?) (2) 4ab
(3) 2@-b? (4) a?+b?

QarHasiiul L =y L auenemud el mbs
x bpmih v -&sren sflwren Egmriiy

x 2 4 6 8 10

e ailBlulled 75 wremeuTaEnsE 30
BrisensE GCgemeiwren o emral
Qurmplsar euprisiul’ L ar. Guog)h
15 wremarsear alhiduiia Gsims
Qarawr_ent erafled, euajemrayl
Qummlser eTggenenr FTL&EHEE
aULpRISLILI(HID ?

(1) 36 (2) 25

(3) 100 (4) 150



100.

101.

102.

103.

The following table shows the marks scored
by 40 students of Grade VIII. The mode of
the data is

Marks  [20|21|22]23 |24 |25
No.of Students| 4 | 5 | 9 [11| 7 | 4
0O =~ 2) 11
(3) 25 (4) 22

Kayal earned ¥ 27,000 per month as salary.
If she utilized her salary in the ratio 3:2: 4
for education, savings and rent respectively,
then her savings percentage is

(1) 44.44%
@ 22.22% &

(2) 33.33%

4) 11.11%

In a simple interest, a sum of money amounts
to ¥ 4,400 in 2 years and ¥ 4,600 in 3 years.
Then the Principal and the Rate of interest
are

D z40005% ~ (2
(3) T 3500, 5% (4)

T 3500, 4%
T 4000, 4%

Value of (0.6)%+ (0.4)2—2(0.24) is
(1) 0.100 (2) 10
@ 1 O onu -~

100

| CODE |[vIlI| 11 | 25 |

- GTLLTLD @@L Lig S@LD 40 LomenreursaT

@ Gerelldy Qupp wHUCUETSET
L Leuenent UL (B EE L (e eren.
guyerefl efleurgden wps@ :

wHGussmasr | 20 (21|22 /23 |24 |25
LD M &waT e T aserTl soT i |5 leilil 5 |-
sTeuoTemufl Sema
(1) 23 (2) 11
(3) 25 (4) 22

101. swe eremueum X 27,000 -@ @@ LIS

102.

103.

Fuemons Cundpri, seng FbUTEnNS
saefl, Ceflly wppbd S
UL ens&sTs 312 4 ergd efldlgsdle
Qeewell@élprr erafler jeumenLw
Geuflluy sgeigibd

(1) 44.44% (2) 33.33%
@) 22.22% 4) 11.11%
genfleu L tg ul 6 G2(1h (o] [

Ssoreng 2 Hampaaid T 4,400
sad 3 gparBsatie T 4,600 56D

wrpépg aald EDd  wWHDD
el igeSgb

(1) ¥ 4000, 5% (2) T 3500, 4%

(3) ¥ 3500, 5% (4) T 4000, 4%
(0.6)2+(0.4)2~2(0.24) -e  wHLY
(1) 0.100 (2) 10

(3 1 (4) 0.04
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104.

105.

106.

107.

What is the unit digit of (15)1> + (16)1¢ ?

1 5 (2) 6

O 4) 0

One of the diagonals of a rhombus is double
the other diagonal. Its area is 25 sq.cm, then
the sum of the diagonals is

(1) 5cm ()

@ 15 cm #

(3) 25cm

If x1/3 4 x1/3 =14, then the value of x is

O 3437 2y 7
(3) 49 (4) 14

A window has the measurements as given
in the figure. The area of glass required to
cover the window is

T

7ft | B5ft

5 fit _l_
(1) 36.75 sq.ft (2) 112 sq.ft
(3) 189 sq.ft @ 5425sqft s

104.

105.

106.

107.

(15)15+(16)1 -én genrprid QwESD

1) 5 2 6

3 1 4) 0

g smLsgTSHen LytiueTa 25 5.08.15.
Gogb s @ apenaedl LD
wHGomi ppepeeil L genss Gurd E)m
wLkiEG aafld, el ppeow-
el tisefan sa®Hsd

(1) 5 Q&b (2) 10 @s.b
(3) 25 Gg.8 (4) 15 Gg.b

134 x1/3 =14 eraflé® x-eén wHiY

(1) 343 (2 7
(3) 49 4) 14
Rer@assiulL  uLgHed o erer

SjeTaysafianiilg 2aTaT @ Fearaneld
Aurmsss CaeraiL@ib seamemig e

UrLUeTey

7 g | 8.5 g

5 iy _l_
(1) 3675531 (2) 112 5.3
(3) 189 .3 (4) 54.25 5.3



108.

109.

110.

The cost of a shirt is increased by 15% and
sold at T 805. The original cost of the shirt

is

(1) T 600 (2) T 650

@ T 7007

(4) T 750

Q
13
Em
5 -E_! 12 em
.&6‘”
R

In the given figure, the area of A PQR is

a 84 sq.cm « (2)
(3) 90 sq.cm (4)

168 sq.cm

180 sg.cm

Match the following,

(a) (a+hb)? (i) {a—b)(a®+ab+b?)

(b) a’+b? (ii) a’+b>+3ab(a+h)
(c) (a—b)? (iii) (a+b)(a®—ab+b?)
(d) a*—bd (iv) a®*—b?—3ab(a—b)

O @), (b)-Gid), (©)-Gv), (d)-() ~
(2)  (a)(id), (b)-(iii), (c)-(i), (d)-(iv)
(3)  (@)-(ii), (b)-{i), (c)-(ii), (d)-(iv)
(4)  (@)-(iii), (b)-(ii), ()-(iv), (d)-(i)
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108. @ slenLwlian eflenar 15% flafsg

109.

110.

T 805 -4 elpsluBdlpg erefle

B EFEFL_an L udlen B FG) el enen
(1) T 600 (2) T 650
(3) T 700 (4) T 750

R
Aer@ssin’ L L sdle o arer APQR -én
LirULieTeay

(1) 84 #.0z.8 (2) 168 #0518

(3) 90 5.Gg.8 (4) 180 5 Q&8

Qumhsgis.

(a) (a+b)? (i) (a—b)(a®+ab+b?)

(b) a®+h3 (i) a®+b?+3abla+h)
(c) (a—b)? (i) (a+b)(a®—ab+b?)
(d) a®—b? (iv) a®—b¥—=3abla-1)

(1) (a)-ii), (b)~(iii), (c)-(iv), (d)-(i)
(2)  (a)-(ii), (b)-(iii), (c)-(1), (d)-(iv)
(3)  (a)-(1i). (b)-(i), (c)-(iii), (d)-(iv)
(4)  (a)-{iii), (b)-(ii), (c)-(iv), (d)-(i)
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SCIENCE/ gjmleSlwiev

111. Observe the following pictures and choose

the correct one on the basis ol area.

em 3ocm ,E-Ei
S5cm 6eom 8 cm
A B C D
Q C<B<A<D”
(2) A<C<B>D
(3) A<C>B>D
(4) B<C<A<D
112, The reason for an iron ball to float in a vessel

113.

filled with mercury is :

(1)

4}

(3)
(4)

Assertion (A) :

Reason (R) :

0o

(2)

(3)
(4)

density of mercury is less than that of
iromn

density of iron is less than that of
mercury #

volume of iron is less

all substances float on mercury

Displacement of a moving
object is zero.

It travels equal distances in
opposite directions.

(A) is correct and (R) is the correct
explanation for (A)

(A) is correct and (R) is not the correct
explanation for (A)

(A) is correct but (R) is wrong
Both (A) and (R) are wrong

111. &pssarL. UL bsmer 2 HHGCHTEE

5cm

112.

113.

urlueredlen =g lueLulie Filwuren
eilenLenwd GarhblsdHasea)n.

5¢m Hhem
A

(1)
{2)
(3)
(4)

B C D
C<B<A<D
A<C=<B=>D
A<C=B=D
B<C<A<D

urgred Slrbdu paseadd @
@by Gerr(® Wglugharen sryerriD |

(1)

(3)
(4)

urgregdlen oL rsdl @ mibeny
efl& @Fenmay

@mullen SLiTHdH unTETESms
eil& @meomay

Bl(mibyY @i SaleTe] Henne
ursrasdla s Cummer
~&EHD LOIS&E@ED

SahHm) Busssdlda o drer g
(el Lam(m el e @u-
@uuwirsdl Lmeiiub

STEwTLD 2UGurmer erHGrdim

(1)

(2)

(3)
(4)

Hlenssefldy s Cgmena-
chlenemd sL&&IDg).
sapm &f Gugbh &rrewio
sapipa&res sflwurer oflar&Esh
S BLD.
gaDmy &, yearre
Sammm&Tes &ilwimen
=D GDE.
samm &, Sryewrd Feum).
SO@l 0HHID SryewTd @reanHin

&M T60ETID
il er& & 1D



114. Choose the wrong statement(s),

(1)

i
i)
(1v)

(1)

o

(3)
(4)

Temperature is a measure of the total
kinetic energy of the molecules in an
object.

Sl unit of temperature is Celsius.
Liquids expand on heating,
Alcohol is used in thermometer.

(i) only

(i) and (i) <
(i), (ii) and (iii)
(i), (i) and (iv)

115. Match the following.

(a)

(b)

(€)

()

(1)

0

(3)
(4)

Freezing point (i) 357°C
of water

Boiling point (i) 27315 K
of mercury

Freezing point  (iii) 212° F
of alcohol

Boiling point  (iv) less than
of water —100°C

(a)-(iv), (b)-(iii), (€)-(ii), (d)-(i)

(a)-(ii), (b)-(3), ()-(iv), (d)~(ii)

(@)-(iv), (b)-(ii), (c)-(iii), (d)-(i)
(@)-(iii), (b)-(iv), (€)-(1), (d)-(i1)
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114. geupren Swphm/snDpSaneTs
CairbllsHas.

115.

(i)

@@ Curmeflad o drar epas-
s N&aten Glorgs @WEs Dme
igan Geuliuflenair@id

(i) Gedudleaullar SI  saE
ClFadluen 2,@n

(i) dlreumsener Gleaululu@ss D
Gurg =ieneu efleuen_ujb

(iv) GeuluBlenaoorefiuiier sydsanre
LweTuRSSIURE DS

(1) (i) L@

(2) (i) whm (i)

(3) (i), (ii) LopmD (iii)

(4) (i), (ii) DD (iv)

QummsE:s.

(a) Bflen cemmflanay (i) 357°C

(b) unsrssdien (i) 273.15 K
Glardlflena

(c) < comammeilem (i) 212°F
z anpiflena

(d) fflen Qandblenay  (iv) —100°C

- & (&L
&

(1) (a)-(iv), (b)-(iii), (c)-(ii), (d)-(i)

(2)  (a)(u), (b)-(1), (c)-(iv), (d)-(in1)

(3)  (a)-(iv), (b)-(ii), (c)-(ii1), (d)-(1)

(4)  (a)-(), (b)-(iv), (0)-(i), (d)-(ii)
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116.

117.

118.

Choose the correct statement.
(1)

Conventional current flow is from
negative to positive.

rd
@ Electric current is the flow of electrons
from negative to positive.

Electric current doesn’t flow in a closed
circuit.

(3)

(4) Electric charges flow towards a point

of high voltage.

The palaxy that is closest to our Milky Way
is :
(1)
(2)
@ ” Andromeda galaxy
(4) TDrregular galaxy

Spiral galaxy
Elliptical galaxy

Observe the figure and find out the values
of a, b and c.

(1) a=90° b=43" c=47°
(2) a=43° b=47" c=47"
@"a=4?“ b=47°  c=43°
(4) a=43" b=90° c=47"

10

116.

117.

118.

sfluren amphleneansd CainlsHéas.

(1) wry Wl erGemmi_L1b eréim
waenldlmbs Crrpaards
Clgddlemma.

(2) BlenGearriiib erenug eradhi -
rrenger erdli penemufier EmHa
G penand@é HeaeusrELo.

(3) epigw Bearepde BHearCGearmiib

LITWITS.
(4) BlemgyrLiiser fls  (Hlem-
apdsd  edrer  yeraflenw

Crradls umuyb.

pog uraeefsfirEssE 2 mbla
Bmé@b eflamben SHyer

(1)
(2)
(3)
(4)

F(mer ellemriben Sliyer

Bereul L eflariBen $lyer
parr_CrrGwLr eflamben Hyer
aprishn eflembenr Srer

Gemaumib LLSengs 2 HmCrradl a, b
HMID ¢ -6 WwHlLEGemars samHls.

N
P R
" b
43" (o
Y
(1) a=90° b=43° c=47"
(2) a=43° b=47" c=47°
(3) a=47" b=47° c=43"
(4) a=43° b=290° c=47"



119. Assertion (A) :

Reason (R) :

01“'

(2)

(3)

(4)

Solid angle is three

dimensional.

Solid angle is formed by
the intersection of three or
more planes at a common

point.

(A) is correct and (R) is the correct
explanation for (A)

(A) is correct but (R) is not the correct
explanation for (A)
(A) is correct but (R) is wrong

Both (A) and (R) are wrong

120. In conduction, during the transfer of heat :

(1)

6]

(3)

)

molecules are transferred.

-

heat energy is transferred without the
actual movement of the molecules.

heat energy is transferred by the actual
movement of the molecules.

heat energy is transferred between
two points which are at the same
temperature.

11

119. samm)

120.

SMNTEUBTID :

(1)

(2)

(3)

(4)
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PN BB BHHDE
GCuhul L sermiser
Glurgeurer Larafiuile
Cleu_Heugmeay Slawros
Caremd 2 (meurdlpg.

sgapm &f Cuab snrreswro
sapOlpanes #flwiren aflerédsn
<SG,

Samml &, S eTTed SrEmTD
sammipanen siflwren eflerdswaa.,

GaDm) #fl, Ly emre) STTETID Heuy.

SaDI), STEwID @) ram(hin Heaum.

Qeutiug sggedlen Gung Flspeug) -

(1)

@)

(3)

(4)

ppaiEan&er @)L b Gluwirdlemmen.

ppedanmisatian @Issn @)aemoe
Cleuliu mme L (Hb SLGHLI-
ub&ng.

ppeEsmn Gusssdlermd Ceuliu

2Hod sL5sULHEDS.

@euliu spmmarers o Qe

Hlenawule 2_@rer B
L e &l & (@5 & (& @en_Gu
s ggiubhEng.
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121.

122.

123.

124.

Choose the correct statement(s).

{ij Sound doesn’t require a medium to
propagate.
Sound travels faster in solid medium.

(i)

i)

Speed of sound in air is 331 m/s at

0°C,

(iv) Loudness of sound depends on its
frequency.

(1) (i) and (ii) (2) (i) and (iv)

O and (i) @) (i) and (iv)

Choose the odd one out.

(1) @ fSﬂimn
&) (4)

Carbon

Phosphorus

Atomic number of oxygen and sodium is

respectively.
(1) &and 10 (2) 6ands8
(3) 6and 11 9”8 and 11

Choose the wrong pair.
QK Hydrogen, Carbon - Monovalent

(2) Hydrogen, Sodium - Monovalent

- Divalent

(3) Oxygen, Beryllium

(4) Nitrogen, Aluminium - Trivalent

12

121.

122,

123.

124.

sfluren smpnsmas CorhtlsHas.
(i) epell Lpey ea_sb Cas@mauuidena.

gpablwimang) &l LGl L afl e
suflures Geusworsls ureydling.

0° Gedflwebdler srpbid gedlullen
FlensGouamib 331 B/afl.

gelluilen o.ruy gear -
GCleuerenenm) Clummss ienodlng.
(i) wpmd (i)  (2)

(i) LommiLD (iii) (4)

(1)

(i)

(iv)

(1)
(3)

(i) LoOmitd (iv)
(ii) Db (iv)

Aunmbsrs geaans CsibEsHEsa)b.

(1) &mirLe (2) Sleblssmen

(3)  umevLrew (4) Gl

<2, & el g0 6o LD D) LD Gamigwib
< Eliueundlen em eramser apeapGu
(1) B wdhmb10  (2) 6 wHmD 8

(3) 6 whmo 11 (4) 8 womw 11

Gummpsrs @everrudamens CorbosHés
(1) enapL_ymen, STmLem -
gherp Genemdper

(2) evaplrmen, Gemgwid -

@henn [@enendlmen
2 Fadlgen, Gufledund -

Girlen. @enammdlmen
bl reen, @lefiun -

(3)

(4)
aplbenie @enanrdlmen



125. Match the following,

(a) Non-periodic (i)  mixture of

change quick lime and
water

(b) Exothermic (i) eruption of
change volcano

(c) Physical (iii) curdling of
change milk

(d) Chemical (iv) crystallisation
change

O @G (b6, (©-Gv), (d)-(ii)

(2)  (@-(), (b)), (c)-(iv), (d)~(ii)
(3)  (2)-(iv), (b)(iid), (c)~(ii), (d)-(i)
(4)  (a)-(iii), (b)-(iv), (c)-(i), (d)-(ii)

126. Choose the correct pair/pairs.

Heating

(i) Solid—— Liquid - Freezing
(ii) Liquid —Hﬂﬂ—wﬂas - Evaporation
(1i1) Gag—cooling Liquid - Condensation
(iv) Solid _Cooling 5 Gas - Sublimation
-
1) @and@ @) (i) and i)
(3) (i) and (iv)  (4) (i) and (iv)
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125.

126.

(1)

(i)

(i)

(iv)

|CODE [vir| 11 | 25 |

Qummsgs)s.

(a) sme @upmEDHD (i) &L

LOMTMHMLD & T G T LD -
Lyem B
Cerps
EeDEN 6

(ii) erflenen

Glauig i

(b) Geudiu =6l

efflenem

(©) Ewhdblwe

LoD MLD

Ceugdlullwed
WrHoLWD

(@)-(i), (b)-{i), (c)-(iv), (d)-(iii)
(@)-(i), (b)-(ii), (c)-(iv), (d)-(iii)
(@)-(iv), (b)-(iii), (c)-(i1), (d)-(i)
(a)-(iti), (b)-(iv), (c)-(i), (d)-(ii)

(iii) Limed
sullyrse

(iv) UigSLomEe

sflurer Blenew /@ anamsamers Gair-
O H&s.

&la@mioth GlauluRsgs0 ; ‘QIJ'GLILb _

2_anmgel

Qauiuliu@BsziEd

Flreaud s GUMLY -

peflurge
cury _GATEES | frah -
el SH(HEESD
Slamol _STTEBEED | gy -
LISBISLOMSE
(i) Lopmitb (iti)
(i) o@D (iv)

(1)
(3)

(i) ommb (ii)  (2)
(1) Lopmid (iv) (4)
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127. Assertion (A) :

128.

129.

There are some changes in
which heat is absorbed.
This

change.

is endothermic

Reason (R) : Water absorbs heat and
becomes water vapour by
the process of evaporation.
heat and
becomes water by the

Ice absorbs

process of melting,
@ Both (A) and (R) are correct

(2) Both (A) and (R) are wrong
(3)  (A) is correct; (R) is wrong
(4) (A)is wrong; (R) is correct

Match the following :

(a) DNA (i) spiders

(b) Lignin (i) protein polymer

(¢) Chitin (iti) synthetic polymer

(d) Plastic (iv) gives structure to plants
(1) (a)-{i), (b)-(ii), (c)-(iii), (d)-(iv)

(2) f,.lﬂ}*ﬁ\'}- (b)-(ii), (c)-{ii), (d)-(i)
@ (a)-(ii), (b)-(iv), (c)-{i), (d)-(iii)

(4)  (a)-(iii), (b)-(3), (c)-(iv), (d)-(1i)
and are antibiotics.
(1) Diclofenac, Ibuprofen
(2) Diphenhydramine,
Cl'llﬂrphemranune

@ Chloramphenicol, Tetracvcline

Sodium birarbonate, Calcium
carbomate

(4)
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127.

128.

129.

D) fla wrpprusafien Gurg
Qauliub o Hlepsuu®-
dlpg. @& Gleudiu oy
LDTDD LD G0

gnyewTd B Geuliugens o Hlgns
2ellTge fpeoid ,Elrlraﬁ't
wrélpg. veflésig
Qesliugens Do
2 HESD fped
Brrdlmg.

(1) &nbmi, srewnd @ramiin &f

(2) @D, SATEwID GreRt(Hid Sem

(3) esmbmy &, srrewmd Faum

(4) sab@I Seum, syewnd &l

ClummSS5Is

(a) wg.eremer (i) SHapd
(b) dlGeflar (i) Urs UL
(c) ensligen (i) Gewmens LeoLilg

(d) Qpd&l (iv) STeUrRSERsEES
S enibliL)s
QarHiusg)

(1) (a)-(i), (b)-(ii), (c)-(iii), (d)-(iv)

(2)  (a)-(iv), (b)-(iii), (c)-(ii), (d)-(3)

(3)
(4)

(@)-(ii), (b)-(iv), (c)-(3), (d)-(iii)
(a)-(iii), (b)-(3), (c)-(iv), (d)-{(ii)

DD mILD GTEmLIEn e
B, ETg LT g S@GHET G0,

(1) en&CermYennd, @LLim.Lien
(2)  ige.GlLcTenan L Fentoe,
@CGermiCuefiyenwen
(3)  @CernGrmbSafssra,
QL _yrenssdlafler
(4) Camgquwd evusmiuGen .,

sreoflunn srmuGs



130. Constituents of elements in Calamine are -

131.

132.

133,

(1)
9 fzim:, carbon, oxygen
(3)
(4)

copper, sulphur, oxvgen

zing, copper, oxygen

sodium, caleium, zinc

Fishes and meat contain high level of :
0 - poly unsaturated fatty acids

mono unsaturated amino acids

()

(3) poly saturated fatty acids

(4)

poly unsaturated amino acids

The two metals that do not react with
oxygen even at high temperature are :

(2) Ag Ca

(4) Mg Pt

Find the odd statement in the changes that
take place in a flower during post
fertilization.

(1)

Calyx sometimes persist with fruit.

(2)  Androecium fall off,

e'ﬁﬂvules present inside the ovary
develops into fruit.

(4) Style and Stigma fall off.

15

130.

131.

[CODE [VIi] 1 | 25 |

‘sraenwen’ - @) dleyeTer saflomiser ;
(1)
(2)
(3)
(4)

Smblib, saur, <y &eadlgen

SISSHIHD, STTLIEN, ByHerilmen
SSSHIED, STOTD, <y seligen
Gemgwib, srafub, sssmrsD

Bemsienid, Geapséfuyb fls seredla
& Caram(pararan,

(1) veuy Hepeypr Carupliy
2Bl e & e

(2) @muy Bepeypr WOCarr
2 OlemiIseT

(3) uveuy Hepayndm GCamuyly
<24 L0l Qs & ET

(4) uvewusg Hepeapr bGearm
2|1l e i i

132. wydls CeuliusSad o &deadlga L 6

133.

eflenanyflurs @m o Carsmser -
(1) Cu, Ag (2) Ag Ca
(3) Au, Pt 4) Mg Pt

S(HeynsansEEU Ger waflé men GlLmid
wrhprtiseaia CQUIBHSETS QaT@Ds
Gairey Gawls.

(1) fa salsefie yoed eauliib
safGur® oy Bleasdmaeio.
&THSSSTET eul L b o Hrdlmg).
Gheudie e drer @aser saflaarra
Loyl e,

Gaas @RI, @henuud o Si-
#lemmen.

(2)
(3)

(4)
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134.

135.

136.

Which one of the following sequence is in
correct order ?

(1) Flower — Seed — Pollination —
Fertilization

e “ Flower — Pollination — Fertilization
— Seed

(3) Flower — Fertilization — Pollination
— Seed

(4) Flower — Pollination — Seed —
Fertilization

Match the following,.

(a) Underground (i) Nepenthes
stem

(b) Traps (i) Avicennia

(c) Gases exchange (iii) Cuscuta

(d) Sucking root (iv) Colocasia

O @), 06, (O, ()G
(@) (@-iv), (b)), ©-Gi), (-G
(3)  (@)-0), (b)), (i), ()i
(®) (@) (b)), (O, (-G

Select the true statement about Lysosome
among, the following.

(1)  Involves in Protein Synthesis

(2) Generates energy for the cell

(3) Helps in cell division

@f Acts as the main digestive
compartments of the cell

134.

135.

136.

Gemeumeuaneupmer ereneu &ilwiman

aufiensulie) ennmsicreng ?

(1) wei — eileng — WETHSF
GarEensd — H(HEDISE

(2) e — warkssGsrsms —
S(HUDHD — efleng

(3) e = HHEDIFH — DETHSE
Corseans — ellang

(4) el — warHSFCsTENS —
efleng — S(HEUMISE

QuUTREHIS.

(a) sewdd sem® (i) CEUUBSEL

(b) @araeilssr (i) sel&aflwm

(¢) eumy uflrHohd (i) SeuErLr

(d) o fless Ceaurser (iv) Gelium-
fyrg

(1) (a){iv), (b)-(i), (c)-(ii), (d)-(ii)

(2)  (@)(iv), (b)-(i), (c)-(iix), (d)-(ii)

(3)  (a)-(), (b)-(id), (c)-(iv), (d)-(iii)

(4)  (@)-(i), (b)-(iv), (c)-(iii), (d)-(ii)

Heneupeuaneunmier enaGarGeribaer

updlu e amenwwrar Fapblenans

Camhblghasaid.

(1) yrs epusduiia unig QunSpg

(2) Geagss Coeeuwrear = hmana
o HusE Clelidlns

(3) Gee Gfsass o sadlng

(4) @eeu Cleadian paemanwilmear
Gefioren LGS G0



137.

138.

139.

(i1)
(1)

(iv)

Which one of the following statement depicts

the characteristic feature of Gymnosperms ?

(1) They produce flower with four whorls
such as calyx, corolla, androecium and
gynoecium.

”

9 They possess vascular tissues, xylem
without vessels and phloem without
companion cells.

(3) Ovary develops into fruit and ovule
develops into seed.

(4) The plant body is well differentiated
into true root, stem and leaves.

The causative agent of Periodontitis is :

(1) Bacteria in teeth

(2) Vitamin C deficiency
(3) Genetic condition
Tobacco chewing

Choose the incorrect pairs.

Muscle cells - long and spindle shape

Epithelial cells - biconcave and disc
shape
Red blood cells - irregular shape

MNerve cells - branched and elongated
shape P

(1) @and @) @) ) and (i

(3) (i) and (iv) (4) (i) and (iv)
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137, &pser. arsdwisaia, guwGearre-

Quiibseflen Lamdenen sawr_ls.

(1) yeed aulLid, Sjered el b,
OSTHSSSTET UL L LD LODOID GHE
QUL LD eTem Brents Bi(H&Esenens
Cl&rearg.

(2) eumE@GNT SDHENDEET L EDL_LIENEU.
mFwg HasaeT nFws GHTUSeT
el  wopd YGerrwd
Slassar glenan Cleasear Genlub
srerTLufdlenpen.

(3) @owsbd saflurseab, @Gaser
clengsermaa)b e meuTSlenmen,

(4) Sreur 2L GTENg L erenLDw men
Geufr, gl WHpb Genewser eren
Caugur® enLhg sreruub-
flenma).

138. Epsam_aupner arg Upsde Crprenw

(SACGWrGLrrenenigeh) e e mé@ELW

smemt ?

(1) upseflée srevluuBd UTEe-
W& &6

(2) enaulflem C Genpun(

(3) wrugy Hlere

(4) yensuleney Glegyse

139. sauprenen Gmamseners Csih-

QgDEseab.
(i) ses Cewsar - Bear wHDID
s8TGame suig.aD
(i) erOSeblud - @mup Gl LHpID
QFdser S5 euigeud
(i) @rss Hauliy - @UprspD aigaud
Clecvaar

(iv) priby Gedser - Saengs LHOID
fan euigeuld

(1) () wopd () (2) (i) wHobd (i)

(3) (i) wpgub (iv) (4) () D@D (iv)
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140, Each cell is interconnected with its

141.

142,

neighbouring cells through

(1)
(2)

0

(4)

Protoplasm
Cytoplasm
Plasmodesmata

Cell membrane

Choose the correct order of the processing

of wool.

(1)

o

(3)

(4)

Shearing, Scouting, Sorting, Carding,
Spinning
Shearing, Sorting, Scouting, Carding,
Spinning
Shearing, Scouting, Carding, Sorting,
Spinning
Shearing, Sorting, Carding, Scouting,
Spinning

Find the correct statement(s).

(i)

(i)

(1if)

(1)
(3)

Penicillin is used to treat diseases such
as Tetanus and Diphtheria.

Probiotics are used to decrease
cholesterol absorption.

E-coli bacteria living in human
intestine helps in the synthesis of
Vitamin - A and Vitamin - D.

(i) and (iii) (2) {11] and (iii)

@ f{i] and (ii)

(ii) only

18

140. @eaulleurm GFdaud Hmed o drer

141.

142,

@ &6 & (6 et

eLpeuth

@lenamsgis arsrdipa.

(1
)
()
(4)

yCrm CLmYerrsid
enal_GLmYarmsb
GermenGomrGl_svwri_Lm

Qe Feuay

sbueaflen o meurd@Eo sflwrer eufiens
wenpuienen Gaiey Calis.

(1)

(2)

(3)

(4)

555MEsd, syash, srbdfissdw,
55059, B

ssMsa, srolfssHh, s1pasw,
HatlsMszsd, EIDDE

5551550, Hpasa, HE0sD56,
srodfisse, pippe

555M556, sr09fsse,
FEQsBHS80, s(1peysD, BIHHE

sflurer smpmi/sappsmears Csih-
@z (HEsayD.

()

(i)

i)

(1)
(3)

Cluafidablen Qi1 mameh, gl
Gurenp Crpmisener GemliL{B&ES
2 gseydlng.

YCrmuwm iy S@ser Gameavt_yme
e flgsliLDeuans @emnadamen.
wafigafier  @Lelld  eaumupd
er.Careney urGefwm eneul L iblem
- A pmib eneul L flem - D sl (Rl
Qurmersenar 2 HLsH Geulieude
e saufipal.
(i) opmud (i)
(i) WU_{ib

2)
(4)

(ii) WHmID (iii)
(i) whmib (i)



143. Dandruff is caused by :

144.

145.

(1)

Trichophyton species

@ /L'chmsparum furfur

(3)
(4)

Albugo candida

Tinea pedis

The role of optic nerve is :

@fTD carry all the nerve impulses from

()
(3)

(4)

the retina to the human brain

To adjust the eye lens

To control the eye movement

To provide nutrients to the eye

Match the following :

(a)

(b)

()

(d)
(1)
(2)

Upper arm (i) Carpals
bone

Wrist bone (1) Metacarpals
Palm bone (i) Phalanges
Finger bone {iv) Humerus

(@)-(ii), (b)-(i), (c)~(iv), (d)-(ii)
(a)-(iv), (b)-(iii), (c)-(i), (d)-(i1)

F 4
0 @-Gv), ©-), (©-G), [d)-Gi)

(4)

(a)-(iid), (b)-(1), (c)-(ii), (d)-(iv)
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143. QuIT(BE LML N&EGED LLEHME

(1)
(2)
(3)
(4)

144.

(1)

(2)
(3)

(4)

genyCamenul_L e Gemb
en&ETTeGUITTID o olife s LI
SwyCar Caeamrig L

waflwim Glugen

urreney BriGer Lenfl -

SjenengE GHrOLUS Slewre-
senerud eilfisHlenruia Emmg)

145. Cummsss -

(a)

(b)

(c)

(d)
1)
(2)
(3)
(4)

GQupm, apoaas aTHESHS
Clacdlpa

Qevemens &l Clauise.

s SenFaseneard  SU(HU-
LI(HS&IHeD.

& &7 &80t ) (&) parl’ L F&5 5| &ener
LD (HEE.

Ciop ens (i) @sriudseT
ergyIbLy

wenfl&s (B (i) Gwolir
eTEyLDLY &TITLICOSET
2 GTeTRIEnsE (i) o .LIQTEREED
GrepbL

eflpe erguiby  (iv) ap©wgev
(@)-(i), (b)-(3), (c)-(iv), (d)-{iii)
(@)-(iv), (b)-(iii), (c}-(1), (d)-(i1)
(a)-(iv), (b)-(1), (c)-{id), (d)-(iii) *
(a)-(iii), (b)-(i), (c)-{ii), (d)-(iv)
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SOCIAL SCIENCE / &ep& mleSlwied

146. The composition of metals in the coins

indicate the __condition of the
Empire.

(1) Palitical (2) Social

@ Economic (4) Cultural

147. Assertion (A) : Cholas gave importance to

irrigation.
Reason (R) : The 16

embankment built by

mile long

Rajendra Chola I in Gangai
Konda Cholapuram stands
as the best example.

(1)  (A) is correct but (R) does not explain

(A).

(A) 1s correct and (R) is the correct
explanation for (A).

(A) is correct and (R) is wrong.

Both (A) and (R) are wrong,.

148. Delhi Sultanate followed B

of architecture.
(1)
(2)

@

(4)

type

Gandara style
Indian style
Indo-Saracenic style

Rajasthani style

20

146. prewrukisaties o drer 2 Canrsssaena

Gugpflew _ fleoeoowus
@B,
(1) sréwa (2) s&rps

e'f Glummenmsmr  (4)  Semdsmy

147. sapmy :  Gamprser, Froursassns
pédluggiaihd eupridlent,
SNTETOTLD : Hhlens Glamamr

Gempursdle, wpsemd
BirmGpsly Gempearme
2 mheun&suuL L. udlenrm
anwoed Herd Clamesr erfls -
&S &{HLIenesr
ladflmns
I (DSSIGETLL TELD.
gamml &, Serrd STrewTD
samenm aflendselichaney.

(h

@ “Babhm &, Cglb &mremwmb,
samnihanes #flwnen afleréson@ib.
gapm| &, SArewId Feum.

Samm) WHNID Sryewnd @) rewr(Hib
Seum.

(3)
(4)

148. eulend

Clevall ®evgmenamer —
sl L gsenaenull Senumbleniser.
(1) &rTHETTS Hanew

2) @rdus sow

@f @EGar sryrarafls sana

(4) BirresusTalls s



149.

150.

151.

started a mass Raksha Bandhan
festival during the Partition of Bengal.

(1) Mahatma Gandhi

(2) Sardar Vallabhai Patel

(3) Subhash Chandra Bose

®

Rabindranath Tagore

Ala-ud-din Hasan Bahman Shah divided the
Kingdom into four territorial divisions called

(1) Sthalas

(3) Mandalams

In the Mughal administration _
was in-charge of the army.

(1) Wakil (2) Mir Saman

@ Mir Bhakshi  (4) Sadr-us-Sudr

21

149,

150.
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euriisll Wifleflenemuen Cums
Glymoaralleurar raagrubser afliprencud
Glgm_rmidlemm,

(1) warsor srHd

(2) &rgmt eudeumi LG e
(3) &umey spSTCLTEL

= .
@ relpATHTS S

soraydear ansar UTLETENT Feug

S[eng [BIalE (DTEHTEhREETTSL
Gflgsrr. e GT G
SAMLPESLILIL L e,

L] - # f-'
(1)  eugeisser @ SIS

Glaerm

(3)

WDERTL_mIEET  (4)

wpawrw  Hlireurssde,
ElrramieuSHINDED iENDFFTTEUTT.

(1) eusda (2)  Biswmren
-~
@ Brurseadl  (4)  ssi-ev-sg T
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152. Match the following : 152. Gunmmsss
(a) Peshwa (i) Secretary (a) Cuemeunr (i) Glewer
(b) Shurunavis (i) Chief Justice by saEmellan (i) seweentd
pHug
(c) Senapati (iii) Prime Minister (c) Geemmudl (i) Aysw
G LDEFFT
(d) Nyayadhish  (iv) Commander- (d) Bwrwudlen  (iv) seneenwd
in-Chief garuigl
@ @i, B)0), ©-v), (@-Gi) O @i, B0, ©-6), @-G) -
(@) (@)-(iv), (b)-(iid), (c)-(ii), (d)-(i) (2)  (a)-(iv), (b)-(iii). (c)-(ii), (d)-(i)
(3)  (a)(ii), (b)-(ii), (c)-{iv), (d)-(3) (3)  (a){i), (b)-{iii), (c)-{iv), (d)-(1)
4 (@)-(ii), (b)-(i), (c)-(ii), (d)-(iv) (4)  (a)-(iii), (b)-(i), (c)-{i1), (d)-(iv)
153. is considered as a typical 153. &bl Querss&eng L
representation of Tamil Buddhism. Syl bl Flsaeu LSS TELD.
(1) Thevaram @ Manimekalai (1) Cseumyid @fmmﬂ Closane
(3) Silapathikaram (4) Vira Sozhiyam (3) Sevudsrrb (4) aipGsmflun
154. “Raksasa Tangadi” was also known as | 154. “gréss sy erempdluiucL Gumi
(1) Battle of Panipat (1)  wreflou’ G Gurr
@ Battle of Talikota @fﬁmméﬂﬁrrf_mu_ Guimr
(3) Battle of Tarain (@)  s@plér Guri
(4) Battle of Chausa @) Gsarar Guri

22



155. _ was the famous Buddhist
Vihara
(1) Ajanta {2) Karli
@ Nalanda {4) Kanheri

156. was the immediate cause of the

Vellore Revolt.

©

Introduction of new turban

(2) Introduction of New rifles
(3) Ban of religious marks
(4) Indian Sepoys were treated inferior

157. the

chronological order.

Arrange following events in

(i)  Battle of Adayar

(i) First Anglo Maratha War
(iii) Battle of Buxar
(iv) Battle of Arcot
(M @), ) ), ()
@ . ) i, 6
(3) G, (i, G, iv)
() G, Gv), 6), G

23
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Bass

o fphs Cuass
eflErenTuIm@ib.

(1)  AmEST (2) &miadl

@ ” BITET BT 4) sanGanfl

Ceugynt sevasdlen o L anigs
Sryent 0.

Q fl_]'@u.l SEnLILITeNS 2iflupsd
(2)
(3)

LI gD Biflapatd
FOIW S{EDLILITETSH Henl_

@) @pdlu Auumisear sripeurs

LSS wg

Qeraumd Hlspaiseear srasdroliuig
aflensliLBSE S,

(i) @ewrm Gumr

(i) ppsed yrdlGaw wrrsHuls Gumr
(iil) w&smr Gumr
(iv) goEriH Curr
(1) (@), (i), (idi), (iv)

—
O o v, ),
(3) (i), (i), (1), (iv)

(4) (i), (iv), (D). (ii)
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158. The drain theory was propounded by | 158. Gsdeisd &ramLd Csriurieu
__ el omiflhgeu
(1) Mahatma Gandhi (1)  &THLT STHAWLIgHET
(2) Rabindranath Tagore (2) @Ereipdrmns Sraai
-
@ Dadabhai Naoroji @ grgruml QperGrrgd)
(4) Jawaharlal Nehru (4) geuaprerd Grp
159. “Keeladi” is situated in the ___ 159. “&pg"’ SBlPHTLigd
district of Tamil Nadu. wraul Ll enwbgieTerg).
(1) Madurai (1) wmenT
-
@ Sivagangai 0 feusriens
(3) Pudukkottai 3) usEGarien
(4) Ramanathapuram (4) @rmoprayrd
160. is the world’s biggest Active | 160. e edlen WBlalbuflu Gswadu®Bd
Volecano. eTfleney 24,@LD.
(1) Fujivama (1) Awglumor
(2) Kilimanjaro (2) dlefhomegerGrm
(3) Popa (3) Gumdiumr
@ Mauna Loa @ ey Geom

24



161.

162.

163.

Identify the picture :

D)

Ox-bow lake

(2) Plunge pool
(3) Meander

(4) Delta

The World Cultural Diversity Day is observed
on

(1) 11t July @ 2 may

(3) 21% February  (4)

Among the following which of the statement

is wrong ?

(1) Petroleum is drilled from oil fields.

(2) By-products of petroleum are diesel,
petrol and kerosene.

Petroleum and its derivatives are called
Black diamond.

(4)  Arab Countries are leading producer
of petroleum.

25
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161. Epssar_ LD aenss GHESng ?

D)

of@ﬁmué @emibL e

(2) elurue) CasEsb

() hp eemasd

(4) Glévm

162. 2 & saTEFsTy Uanpasseann Seld

S (GLD.

s
(1) mOaa 11 Q Gon
(3) Gorefi 21 @) g9 11

163. spmisafied eTg geupreng ?

(1) GulGrredlwib eram&entii auwid-
safled @mba slenanuil B er(Hidmi-
LR EDE.

(2) séer eanGlamuilelmbg wae,
Glud Grreflwi, wenrGl el amril
flen_&dlpg).

>

@ QU Grmedlwiih WHMID B Fan
o LEUMHETSET HHLIL eveurD eren
Senp&sliupHidEng.

4) GuiCrreiw e husdufer Griu
BrE&ET  pgeareny @i g

2 _GTeng).
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164.

165.

166. North America has

167.

Identify the correct pair.
(1) Nainital - West Bengal
(2) Shillong - Kerala

- Uttarakhand

(3) Ooty

Shimla - Himachal Pradesh

. compounds are used in making
disinfecting liguids, bleaching powder, etc.

Bauxite

(1)

Limestone

(2)

Time Zones.

o - 2) 5

(3) 8 4) 11

Red colour in the map denotes
(1) Snow @ Settlements

(3) Agriculture (4) Forest
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164.

165.

166.

167.

siiwmen Glenamenwid sHewr(Hdlig.
(1) enpaflmed - GomeE cumisTemD
aflaerm - Garerm

(3) - o Gflysmam

7
@ Soeor - @ursal GrGssn

(2)

Gerwrser Hmdl prélead
draud wHmb Faameudgner swmflindle
uwenuBE s
(1) wur&Eenenl
(2) maﬁraﬁn&ué&é&
(3)
@/mrnﬁ:&sa‘r"eﬁ

Jf,}misesrﬂ

el yelwfssr _ Crr
LDGRTL QRIGENET 2 aTerL_ddl|aTerg).
[0 I 2) 5
3) 8 4 11
ey flmib euenruL sl
-B6 Gfledng!.

'.f' "
(1) e [ TSI T
(3) efleusmud 4) srHser



168. river forms the boundary

between USA and Mexico,

)
®
o)
()

Mississippi
Rio Grande
Missouri

Mackenzie

169. Bhopal Gas Leakage is an example of
disaster.

} Man-made
(2)

(4)

Natural

Industrial

Technological

170. South India lies in the zone,

(1) Temperate @ Torrid
(3) Frigid (4) Tundra

171. rocks are formed by compacting
and cementing.

(1)
(2)

©

(4)

Intrusive igneous
Metamorphic
Sedimentary

Extrusive igneous
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168. GwfssralhEn CwsallCarelneEb
BlenLullé Edl ereeneuuims
B|SLDBGIETaTg).

(1) WBlefafling

’.lf
0 MGwr &Gremg
(3) WenGleard

4) Quésemed

169. Gurure eflegeury s#ey
CuflmméE erHssIG6TLTELD.

(1) wellsarmd 2 maneio

(2 Qupems
@ Cgmfliharena
(4) Qsrileom b
170. we_eghle Clgen @mHbwim
2_geng).
—
(1) s Geuliu 0 Gauliu
() @efi 4) s
171.

UTenm&eT 2(pSSD DD
Elenamrzed ppetd 2 meurdlemmen.
(1)
(2)

a Uig el Limenmaer
(4)

sa(fpeiiu SLLimenpseT

2 HTHil UTenDEeT

Qevefllyps Suunenpser
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172. Which of the following is not a reason for

173.

(a)

()

(€)

(d)

drought ?
(1) Failure of monsoon
@ Afforestation
(3) Reduction of ground water
(4) Lack of rainfall
Match the following :
Private Sector industry (1) Mahanagar
Gas Limited
Joint Sector industry (i) Steel Authority
of India
Limited
Public Sector industry (iii) Anand Milk
Union Limited
Co-operative industry (iv) Reliance

O

(2)
(3)

(4)

(@)-{(iv), (b)-(3), (c)-(i1), (d)-(iii)

(@)-(i), (b)-(ii), (c)-(iii), (d)-(iv)

(@)-(iii), (b)-(iv), (c)-(i), (d)-(ii)

(@)-(ii), (b)-(i). (c)-(iii), (d)-(iv)
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172. @eundle evgy euml F ghuULE Sryemrid
SHeay ?

173.

(1)

L(HeuLDenLD Gumbgge

o~ . ue
Q (s aueriiy

() Hoszg bt G@psD
(4) @enmeuran wenpliblumifley
Cummsss
(a) saflwrt genm (i) LETHEST Ty
Ggmflesid Hlgeuembd
(b) sml(Bmern (i) @bSlu GHby
Ggmlesnd 6Ts (@
<B4, 60 GRTILILD
(c) GQursmiggeny (iii) penhs e
Ggmflashn e
Fimieuanin
(d) el (Boeysgsenn (iv) fAenaena

Ggmblesid

-~
D @-v), 0, (©)-(i), (d)-ii)

(2)

(3)

(4)

(@)-(i), (b)=(ii), (c)-(iii), (d)-(iv)

(a)-(ii1), (b)-(iv), (c)-(i), (d)-(ii)

(@)-(ii), (b)-(3), (c)-(iii), (d)-(iv)



174. To become a member of Legislative Council,

175.

176.

one should have completed
years of age.

(1) 25 @ 30

(3) 35 (4) 18
Find the odd one ocut.

(1) Television (2} Radio
(3) Newspaper @ Letter

Find the correct statement/statements :
(i) The Leader of the Opposition Party
holds the rank of Cabinet Minister.

(i) Opposition Party cannot raise their
voices on the wrong policies and

failures.

(i) An effective Opposition Party is very
essential for the successful operation

of the Democracy.

(iv)

Opposition Party seriously criticizes
the policies and bills introduced by the
Government.

(1) (1) only
(i), (iii) and (iv)
(3)

(4)

(1) and (iii)

All the above
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174. (orpley s neirm Guoaene 2 gilnfenyr-

175.

176.

USDE (HODHSLLE eI

e"fm

4) 18

25

Qurmpbers eaenns Csie) Cedis.
(1) surGlanmall
() Geigissrar (@) susb

Egrenaudsm & (2)

sflwren sanm/smomnsamend searHui-
eyLb.
(i) erdirsa s s, GaQearl
SODFFT BhFHMsHS C&STen-
g (THLILIATT.

ardlrss f, oyrflar seupren
Gerarensser whob Caradelsemear
Geuafiliufissrs.

(i)

(iii) oéserT ) Qeupdlarors Gﬂe;u.lsh—
uBeushHE Shpe eumibs erdlis-
& blsab =jeufluinrgE.

(iv) eTdliEs &, DT EIT B & G ) e
CleTerensser WHMLWD o Hlapsii-
LESsLLEL s Gersrésemer
Sellpons eflwifléeib. .

(1)
O 0. G wipid (v
(3) (i) wHmb (ii)

(4) Geeu ymenSHILD

(i) W (P
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177. The first woman to space, Valentina

Tereshkova belongs to

(1)
(2)

(4)

178.

(2)
(3)
(4)

179.

country.

is the shape of ‘Stop’ sign.
Octagon
Circle
Triangle

Hexagon

~ denotes ONE TAX, ONE

MARKET AND ONE NATION.

(1)
(2)

©

(4)

Value added Tax
Excise duty

Goods and Service Tax
Wealth Tax

180. The students should be encouraged to open

(1)

@)

(3)
(4)

scheme.
Insurance
Sanchayeka
Stock
Mutual funds

-00o-
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177.

178.

179.

180.

wadle dlarQeaisms Gsap
arQoeager CsCrayCGarear eramm
@ L1 ot L0 G| BrenL &
Gambseur,

(1)
(2)
e”’ﬁswﬂmg gpemhlwitd
(4) @pswr

= Gnfl&sr

muLiren

'Hlé @PluS g augaub .
o ~ eramGaErenid

(2) eulL b
(3) &sGarewmb
4) mGasrenrid

— a® afl, @@ sHog wHDID
pm Caob aenmss Ghléng!.
(1) wdiy &L B eufl
(2) &emed cufl
e “ sré@ whpid Crevay euffl
4) Qarsg aufl
Sl sy yrnbas
wremalTsenear sad@eilss Geuawt(Hib.
(1)  smnSE
o
0 Fenaruiam
(3)
(4)

LIMIE GUTSSELD

upeLy Bl

~-00o0-
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Sieyargud LEd (WHAT b UL g6e0)
FOR ROUGH USE {Not for evaluation)
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